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(v)

c=3x 108 m/s
h=6.63x1073*Js
e=1.6x1019C
Hy=41tx 107 TmA™!

g,=8.854 x 10712C2 N m™?

ﬁso:w 10° N m? C2

m,=9.1x 103! kg

=2 T FFHH = 1.675 x 10727 kg
e & §eHH = 1.673 x 10727 kg
Talgl H&A = 6.023 x 1023 ufq I diet

dieesTH i = 1.38 x 10723 JK-!

General Instructions :

(i)
(ii)

(iii)

(iv)

(v)

55/1/3/D

There are 26 questions in all. All questions are compulsory.
This question paper has five sections : Section A, Section B, Section C, Section D
and Section E.

Section A contains five questions of one mark each, Section B contains five
questions of two marks each, Section C contains twelve questions of three marks
each, Section D contains one value based question of four marks and Section E
contains three questions of five marks each.

There is no overall choice. However, an internal choice has been provided in one
question of two marks, one question of three marks and all the three questions of
five marks weightage. You have to attempt only one of the choices in such
questions.

You may use the following values of physical constants wherever necessary :
c=3x108 /s

h=6.63x10734Js

e=1.6x10"1°C

Hy=41tx 107 TmA™!

g,=8.854x 10712 C2 N1 m™2

1
—=9x 10° Nm?2 C2
4n£0

m,=9.1x 103! kg
mass of neutron = 1.675 x 1027 kg
mass of proton = 1.673 x 10727 kg
Avogadro’s number = 6.023 x 1023 per gram mole
Boltzmann constant = 1.38 x 10723 JK~!
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Section — A

1. ol STt o & USTd T STIacHI® 1.5 € | T8 1.65 3TaacHi®h & [l AT | 3aH W g
T TSI HaT T 2 1

A concave lens of refractive index 1.5 is immersed in a medium of refractive index 1.65.
‘What is the nature of the lens ?

2. UIYE S Y IO B § 2 1

How are side bands produced ?

3. TN UH U9, GaAs & ford, dicedl & WY URT & GRecH &l 39 & o T U (3Tea)

(i) TS Mg € |
(i) 39 % 20 & e B ¥ | 1

Graph showing the variation of current versus voltage for a material GaAs is shown in
the figure. Identify the region of

(1)  negative resistance

(i1)) where Ohm’s law is obeyed.

4. UM - dfqena i aRemT fAfEd | 38 T9.27E, (S.].) A F41 § 2 1

Define capacitor reactance. Write its S.I. units.

5. 1 cm ST & 99 (F9) H UREE (@<) 64! [5ga & R 398 79 ¥ ToRA aret foed v
T A 41 & 2 1

What is the electric flux through a cube of side 1 cm which encloses an electric dipole ?
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Section — B

6. ST OUT SUTHET THTABT H A< (WS) i |

Distinguish between ‘intrinsic’ and ‘extrinsic’ semiconductors.

7. TUOT G % SUANT FRT SR Toh, Tl STeaer SUUT o HHA ST f (BIehE 34) aam 2f (Tshar
forsm) o it feor fopdlt o o wfcfermar, 2f & WX (2 | X 310 Far & |
Use the mirror equation to show that an object placed between f and 2f of a concave
mirror produces a real image beyond 2f.
I9ar/OR
g I dioRizel 3 S H [l 3T TNTEe i Ie (TMEY) i AT & I ST 6
A & fort =steh o hiteid |

TG 3iie (AR) i e Teafe § IR WehIeT <l clieiam tfeha™ gt 2

Find an expression for intensity of transmitted light when a polaroid sheet is rotated
between two crossed polaroids. In which position of the polaroid sheet will the
transmitted intensity be maximum ?

8. @ & I & S ¥ fopdlt ®iee  foet () ¥ 9o feafa & o wiqemyr (orch) s
Hit |

Use Kirchhoff’s rules to obtain conditions for the balance condition in a Wheatstone
bridge.

9. T WIS AT Ush T (o) HUT W Helag SI-SiTeAl qlieed! o1 {F A ¢, Al T hiferd —
(i) 3 o fawal 1 STuT
(i) 3! AT T ST
A proton and an o-particle have the same de-Broglie wavelength. Determine the ratio
of (1) their accelerating potentials (ii) their speeds.

10. 3N fob STegiSH WA 1 &l i B5ar § n? & 3FER UNac &l & | STéf, n URHT] &
FlieH T ¥ |
Show that the radius of the orbit in hydrogen atom varies as n?, where n is the

principal quantum number of the atom.

55/1/3/D 4
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Section - C

11. Troa e sl HREYTel & fag & 9o i |

T eoMIHIeY &1 WieRe G & | 36 ST § U Ui R, e 39V diee W &
AiceHiey § FAING fohal ST & | At oo imtes & | Suishd # R, Wiawrg Sirgt i o
diceHey V/2 Aiee T AT §hal & | R, T R, % W&l H 98 HeRY T S, St 36
eeHHIEY 3l 2 V TN & dleeriel H IR & @ | R, T4 R, % W&l H feaH e &
YR ‘G’ 1 T4 o 1 it | 3

State the principle of working of a galvanometer.

A galvanometer of resistance G is converted into a voltmeter to measure upto V volts
by connecting a resistance R, in series with the coil. If a resistance R, is connected in

series with it, then it can measure upto V/2 volts. Find the resistance, in terms of
R, and R,, required to be connected to convert it into a voltmeter that can read upto

2 V. Also find the resistance G of the galvanometer in terms of R; and R,.

12. GRISEE ®l G o Ufawell i & o TG i STl & 2 Tsh SUFer 3RE Sl Gerddr &
T HIATSTY T GO i |

et UvEiciies SE9 % 9RT Sl qoT W SRR SEE h uRy i et €, R o
HIEISATS i UTHSRTeh STaE H YEfeld sl sl S0l o/ & 2 3

With what considerations in view, a photodiode is fabricated ? State its working with
the help of a suitable diagram.

Eventhough the current in the forward bias is known to be more than in the reverse
bias, yet the photodiode works in reverse bias. What is the reason ?

13. WA 3easish (CE) fomard 0 Ziviet vaees 1 Ush aRuy 3G a1 |

(i) Freet uiady d9r (i) R vade Ui i gRiiyd HifsE | gedt faer qen i
SANTCATEITOTERT o STANT FRT HeRT A hdl eI fepam ST € 2 3

Draw a circuit diagram of a transistor amplifier in CE configuration.

Define the terms : (i) Input resistance and (ii) Current amplification factor. How are
these determined using typical input and output characteristics ?

55/1/3/D 5 [P.T.O.



14. TTiThd U= o1 ST i :

(a) Toralt fafemt vt o vReRd TepreT st q8Teed 600 nm ¥ , SRR TRt U oR ot RSt ot
o digrg 0.1° € 1 1, 3 foial & drer 3ot (g4 T S |

(b) g H TEROT XAl 8T 5000 A TERE T UHIT STeA & Y & S WRafed & € |
Y WA TN SIS TR i AT TAT ST IX T TS TS 2

Answer the following questions :

(a) In a double slit experiment using light of wavelength 600 nm, the angular width
of the fringe formed on a distant screen is 0.1°. Find the spacing between the two

slits.

(b) Light of wavelength 5000 A propagating in air gets partly reflected from the
surface of water. How will the wavelengths and frequencies of the reflected and

refracted light be affected ?

15. X, W % U W &I 0 aod B T1 TF THL. (ac) AT § SUMHA H ST T & | Foaf
i ST (T T T TS TS Af, (i) UReh W Tl ol ST b1 A Y 51 ST 2 (i) IR
o WITR e I T D8 S &l S 2 (iii) 39 IRO" § ST H X, = X, Ui 1 gaie
Sirg feam wm 2

Tedish SN H 379+ TR ! g & ford et feafiad |

An inductor L of inductance X is connected in series with a bulb B and an ac source.

How would brightness of the bulb change when (i) number of turn in the inductor is
reduced, (ii) an iron rod is inserted in the inductor and (iii) a capacitor of reactance

X=X is inserted in series in the circuit. Justify your answer in each case.

55/1/3/D 6



16. faga T WagH & 39 9N 61 19 fofgd

(a) ST faHM HemeH | Uged TeR SeeT & fotd Suge eidm § |

(b) ST ST UL el (A1) & SUAR | eIl & |
(c) T Taferean & A-Fem o ford vge g & |
T § feiied o 3 O ol hdl 3o TohaT ST Hehell § | 3

Name the parts of the electromagnetic spectrum which is
(a) suitable for radar systems used in aircraft navigation.
(b) used to treat muscular strain.

(c) used as a diagnostic tool in medicine.

Write in brief, how these waves can be produced.

17. (i) Tt foemeT (Jec) STe qREeis & SIgeash oiF il ®ehd 34 15 m & 13 1.0 cm
IS T I AR T SUANT fohaT ST A SIGLIH T RO SAEA a1 BT 2

(i) 3 3T EIH FHT TN THAT B 3G & ford 71 S &, Afigvass o g1 a9
T 5T o Uiateie o1 oA Toha=T 8T 2 ST bl o 3.48 x 100 m T SHeh! R
F e 3.8x 108 m e | 3

(1) A giant refracting telescope has an objective lens of focal length 15 m. If an eye
piece of focal length 1.0 cm is used, what is the angular magnification of the

telescope ?

(i1) If this telescope is used to view the moon, what is the diameter of the image of
the moon formed by the objective lens ? The diameter of the moon is 3.48 x 10% m

and the radius of lunar orbit is 3.8 x 103 m.

55/1/3/D 7 [P.T.O.



18. 3TME=TE o U foRId QHIET & foif@d | Soora Sifstd fh gdeht Terar & et forgd
TSl o fohT TEeIquT I8T0TT Shi AT <l ST Tehell € |

el g (W) T AT THRT B AR H A, ¥ A, T ARacH an § W forgd
T S AR Tt oott &F AT &1 St & |

T, o1 T2 I el e ), T G & (o7 T Fea Hito |

Write Einstein’s photoelectric equation and mention which important features in

photoelectric effect can be explained with the help of this equation.
The maximum kinetic energy of the photoelectrons gets doubled when the wavelength
of light incident on the surface changes from A, to A,. Derive the expressions for the

threshold wavelength A, and work function for the metal surface.

19. TR (o) fRR0T o | 1 Ol §RT Uehiv Tl METR-ARIST TN & 319 U, Ted-ATeh
% FHeA™ & T T (o) FHUT & WeIU-U i 39 | Telg § W Hif o 39 ereas &
Ty & ATeT % IR | g1 Hd Tt & |

Fei, R = R, A3 9 geifed fop, Aifvepar verel ariear A o¢ FiR el e | (T R, U oo

& AT A IR i ST T Y 1)

In the study of Geiger-Marsdon experiment on scattering of o particles by a thin foil of
gold, draw the trajectory of o-particles in the coulomb field of target nucleus. Explain

briefly how one gets the information on the size of the nucleus from this study.

From the relation R = R A3, where R, is constant and A is the mass number of the

nucleus, show that nuclear matter density is independent of A.

ar/OR

55/1/3/D 8



Ty foe qon AT Jorae § 95 (3R fafed | 9ied i 5 <A1 Wohdl | St 51
Tt gt (Feperd) € |

e TWE T FfeRAm-grEfean Tored atul § Hifad e % AW MeV H R
I

%H + ?H — ;LHe +n
fean &, s
m((H) = 2.014102 u
m((H) = 3.016049 u

m(3He) = 4.002603 u
m_ = 1.008665 u

lu=931.5 MeV/c?

Distinguish between nuclear fission and fusion. Show how in both these processes
energy is released.

Calculate the energy release in MeV in the deuterium-tritium fusion reaction :
%H + ?H — ;LHe +n

Using the data :

m((H) =2.014102 u

m((H) = 3.016049 u

m(3He) = 4.002603 u

m_ = 1.008665 u

lu=931.5 MeV/c?

55/1/3/D 9 [P.T.O.



20. AW HEfAd (AM) Gl & foTT T Hgah U selich 3TRG 12 | STEvash Uehar el
TETET o SUANT FRT IR0 1o et 31 oiglerd (AM) T § Hol TR9T Gohel T Tga
FYETE |

Draw a block diagram of a detector for AM signal and show, using necessary
processes and the waveforms, how the original message signal is detected from the

input AM wave.

21. U A &I ORI a%s 961 (SUHUE) ‘B’ € 3R TUH MRk Uerke ¢’ € | 3 ‘R’ Al
UfeRTy o FaRT 9 TSt T & | 2fHAer sieedt V a2 (i) R 311 (i) 9T [ % s 7 s |

g U AT & fh ST R =4 Q & ot fogd a1 61 99 1 A € 3R R &1 I FglT 9 Q Y 3
¥ URT &1 A F9 8 0.5 A T ST & | 309 {97 9% 961 (SUAUE) E T AR
UFeRT ¢ T T 1 i |

A cell of emf ‘E’ and internal resistance ‘r’ is connected across a variable load resistor

R. Draw the plots of the terminal voltage V versus (i) R and (i1) the current I.

It is found that when R = 4 Q, the current is 1 A and when R is increased to 9 Q, the

current reduces to 0.5 A. Find the values of the emf E and internal resistance r.

22. A GIRET % &1 GG C, T C,, i Teet Svishe H R R FHmae areeisha # gt ST
T | T TS B THTE F 100 V B 92 % R Sier S € 1 A 37 3 gaeE §
e ot ShRT: 0.045 J 1 0.25 J &1, & C, T C, 1 HIF 1 HifoTd | FHIR (A19e) 60
T I WG IX 376 o | o1 IReher S it |

Two capacitors of unknown capacitances C; and C, are connected first in series and

then in parallel across a battery of 100 V. If the energy stored in the two combinations

is 0.045 J and 0.25 J respectively, determine the value of C; and C,. Also calculate the
charge on each capacitor in parallel combination.

55/1/3/D 10
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Section - D

23. 30 foRmerd ¥ 3T g0 & forenterl & T # Ueh foeld e W W U SR (JaRT) o1
I 57 OX T o “@eRT H.T. 2200 V' | 3 Ta-t 354 dicedT i ST i JHet Fal o
STeifeh S =RT eI TeATg i dicedT et 220 V il € | S T & T8l vee e
Torersh & g7 | ToTeTeR ¥ TH U WewaIquT UR I §U S8 URT SRR ShT WHE |

TeAifend wroeT % ST fotfas
() a.c. (TE) foRgTaRT I fowedr w7 A & o BT Jiord 1 U oHar S &
31X g7 ot foh T TR h1d Xt € 2

(i) o7 3T IfeRT BT SUANT, 3= dicedl SLAT. (dc) i Alezal Sl T A o Far ST T
T 9 W H |

(iil) TerereR T fomnteal N1 WG Hodt I Soord it | 4

A group of students while coming from the school noticed a box marked “Danger H.T.
2200 V” at a substation in the main street. They did not understand the utility of a such
a high voltage, while they argued, the supply was only 220 V. They asked their teacher
this question the next day. The teacher thought it to be an important question and

therefore explained to the whole class.
Answer the following questions :

(1)  What device is used to bring the high voltage down to low voltage of a.c. current

and what is the principle of its working ?

(i1) Is it possible to use this device for bringing down the high dc voltage to the low

voltage ? Explain.
(11) Write the values displayed by the students and the teacher.

55/1/3/D 11 [P.T.O.



24. (a)

(b)

(a)

(b)

55/1/3/D

U - T

Section - E

T Ty % 31 g STRT 4q T —q § S ¥ T e g 2a ¥ 1 3 g W@
Ty omepl p & 1 39 f5yd & HROT, 3! SR Tl W T T4 T9H B F x T W
forerd 8 E & Ford U =ioeh, p % U9 § o SIS | o1 <9 £, ¢ >> a 1 ff

T E—2p/ (d4ne, ).

e & o Fopdlt o R fore 86 E = 2, o 30 5 (99 A 2R TSI a1t e Faege
AR o T TH UREE () 37T 1 H1F A1 i |

An electric dipole of dipole moment E} consists of point charges +q and —q

%
separated by a distance 2a apart. Deduce the expression for the electric field E
due to the dipole at a distance x from the centre of the dipole on its axial line in

terms of the dipole moment 5} Hence show that in the limit x >> a, E — 23/
(4m gy xd).

Given the electric field in the region E = 2xli\, find the net electric flux through
the cube and the charge enclosed by it.

a/OR

12



(a) U NG % ST FW AT faga & o sufeid W T (i) et qen
(ii) TSR U=TS & FeR H 3R i W Hiotd | Tl TRIeR IsTe & geiehior i
IR ST o Gotear (FEd Tgh) | T8 day oy |

(b) T Ut &Nfeereh AT hIvT (WieT) i o1 R € 3R 9% I8 W Q 369 € | 39 b5

CWQ&‘%@'W@W%?@T% | b 31T STEY +2Q, 39 HIT & 96T, T6H 5 9 x

T W LT I T SR T & | 1 BT : (i) B o g a4 A foag w1 ferd
AT TR A (i) IV F T ST AT [ Forer | 5

(a) Explain, using suitable diagrams, the difference in the behaviour of a
(1) conductor and (ii) dielectric in the presence of external electric field. Define

the terms polarization of a dielectric and write its relation with susceptibility.

(b) A thin metallic spherical shell of radius R carries a charge Q on its surface. A

point charge % is placed at its centre C and an other charge +2Q is placed

outside the shell at a distance x from the centre as shown in the figure. Find (i)
the force on the charge at the centre of shell and at the point A, (i1) the electric

flux through the shell.

55/1/3/D 13 [P.T.O.



25. (a)

(b)

(a)

(b)

55/1/3/D

wfieR % uRueda g o et | 3| Ew % ST 9, 91 @i 9 e RiEe &
fioR Jrahig &1 & ford oteh U i, afg 39 Rige o ofed Bear o ¥, T9ent
U THIE OIS § TRT b1 T “‘n’ & TAT 39 Th TR (SR 9RT I vetted & &l
T

TS URATTeRT | W ! T N’ €, T1 U SR IS A &% ‘A’ € | T a%
3R Ter U et T ¢ o6, 3O U STORE! (3TE) MW T Ko fawm § veted
B W@ § | 39 URACTR % HRUT gaehid &5 Y@ & Fauy it qer Rt
a1 &1 oRIY ¥ I Sooi@ i | 5¥gd b 7 aRAlcrs s 93 (38) T &

HifeT TR el & TR FrIhiF 3TEPT, m = NIA.

State Ampere’s circuital law. Use this law to obtain the expression for the
magnetic field inside an air cored toroid of average radius ‘r’, having ‘n’ turns

per unit length and carrying a steady current 1.

An observer to the left of a solenoid of N turns each of cross section area ‘A’
observes that a steady current I in it flows in the clockwise direction. Depict the
magnetic field lines due to the solenoid specifying its polarity and show that it

acts as a bar magnet of magnetic moment m = NIA.

ar/OR

14



(a) SR U (mutual inductance) I AT IS T THHT S L (Q?T.Gﬂ‘%.)
A fefad |

(b) T ol R % F AR AU H Th 3 GRATAR &7 T8 & | 369 o TH
(T &) TTE &l I el URAcTRIe & 3T IREe % ol U e Ui
HifT |

(c) TUH WM # 31 FHeferdl ¢, T ¢, H TH T % O W@ T & | FSeAl ¢, H vaifea
TR &mT % aRec | ¢, H U o e 91 (A%, & fofd U =ietn we
HiT | 5

(a) Define mutual inductance and write its S.I. units.

(b) Derive an expression for the mutual inductance of two long co-axial solenoids of

same length wound one over the other.
(c) Inan experiment, two coils ¢, and c, are placed close to each other. Find out the
expression for the emf induced in the coil ¢, due to a change in the current

through the coil c,.

26. (a) fgdias dihen & o e=ig i 9T & ST §R1 O it o, ford! adet ot
TR TSHAUT TR o o ST 8 ¥, U8 W e Uee o S ¢ |

(b) TV b v faacH kst bl Il AIEE, Hesia ThoT bl TISTS i 3Tl &l € |

(c) T HHEfF nd - § g eH 4, e:(n+%)%qwm3%un%, &foT T B

T 5
(a) Using Huygens’s construction of secondary wavelets explain how a diffraction

pattern is obtained on a screen due to a narrow slit on which a monochromatic

beam of light is incident normally.

(b) Show that the angular width of the first diffraction fringe is half that of the
central fringe.
. . 1 .
(c) Explain why the maxima at 6 = (n+§) 2 become weaker and weaker with

increasing n.

ar/OR
55/1/3/D 15 [P.T.O.



(a)

(b)

(a)

(b)

55/1/3/D

ST o 8T 3 W ST T4 €, Uk TeAld STy o ashel 59T R € | 39 Ueh 317
& TTET S SITEI% n, § 3R GO SR % WTE H S n, € | T 397 I%
% WA n, SIS % HEH " U a5 o (@) ‘0° W@l § | 36 Wi
ST TR o [ T foReoT T S1ed 31 ny, n, T97 R % ORI | %] B g e
yfdfers it g o s oY A= RIS |

ST n, HUEHIS 6 HEH H S S Ao ol T seet g % o St g
1 FH AT 5, T GO A % AT H SERHE 0, 8 (0, > n) A, WIS F
o oft I9%T (AT (a) & TAE) FHEHOT fAf@d | 398 A -0 g7 & ot st
T it |

A point object ‘O’ is kept in a medium of refractive index n; in front of a convex
spherical surface of radius of curvature R which separates the second medium of

refractive index n, from the first one, as shown in the figure.

Draw the ray diagram showing the image formation and deduce the relationship
between the object distance and the image distance in terms of n, n, and R.

When the image formed above acts as a virtual object for a concave spherical
surface separating the medium n, from n; (n, > n,), draw this ray diagram and

write the similar (similar to (a)) relation. Hence obtain the expression for the lens
maker’s formula.
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